MATH 1325
Chapter 11.6: Derivatives Of Products And Quotients

The Prepuer Rune:

£(x)= AB
)= A'B+ AR’

Gwen £, Fep ().
£1x) = (2% + A (3x?) $(R) = (W +3) (x5
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Tue QuorienT Rue:

A
=3 |
v . AB-AB
0= —=x
Given £, Fup ().
PA= %=L £A)= 22X

AX+3 Ax*4+ 4
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- (3—4:3((.5;+ 1)
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Avence Cost  C(x)= C;_;ﬁ

Marawar Avernce CosTt C'(X)

The TOTAL CoST 1N POLLARS TO MANUFACTURE X MuBIL PHONES

e
K+2

FiMD He FoLlowing..

Q) AVBRAGZ COST PER. PHONE b) AVGRAGZ COST PER. PHONE
AT PRODUCTIONS ©

5000

10000

400000

c) MARGINAL AVERAGE COST 0\-3 MARGIN M AVRAGE COST
AT PRODVCTIONS :

S00

1000
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THE CoST 1N HUMDREDS OF TOLLARS FoR. A FLoWeR. SHoP To
PROBUCE U - HyvbrSD Flower ARRANGZMENTS 1S GyweN BY
C(X)= x*+3%+ 1R,

AT A PRODVCTION LBV AT A PRODVCTION LEVEL
OF 200 ARRANGIVENTS . OF 200 ARRANGEMSNTS.

C) NP THe MARGNAL PVERAGE d) FIND ™M= PRoDUCNON LEvaL.

COST AT ProDUCTION Lava s WHhERZ THE MARGINAAL AVERAGEZ
OF 200 ANO 500 ARRANGVSNTS . COST IS RERO.



